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Note : Answer Part-I and Part-II in separate answer copies.
Answer the questions as per instructions in each part.
Draw labelled diagrams, wherever necessary.

Time : 2 hours	 Maximum Marks : 25

Note : Q. No. 1 is compulsory. Attempt any four questions

from Q. No. 2 to 7.

PART - I (PLANTS)

1.	 Fill in the blanks. Attempt any five :
	 5

	  flowers produce very large
number of small, dry, light and smooth
pollen grains.

	  is the process of differentiation
of cell layers in the proembryo.

As the 	 of a plant is generally
free of viruses, it is cultured to obtain virus
free plantlets.

Zygote represents the first cell of the
	 generation.
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Members of the family Trapaceae do not
possess	 .  tissue.

	 means the inability of the plants
to produce functional gametes and to
produce seeds upon self pollination.

is	 known	 as	 the
photomorphogenetic pigment.

	

2.	 Write short notes on any two of the following :	 5

Clonal propagation and its advantages

Structure of an ovule

Formation of annual rings

Advantages of cross pollination to the plants

	

3.	 (a)	 Differentiate between any two of the	 4
following :

Secretory and Amoeboid Tapetum

Vascular cambium and Cork
cambium

Dormancy and Senescence

Cybridization	 and	 Somatic
Hybridization

(b)	 Name the different types of cells which	 1
constitute the secondary xylem.
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4.	 (a)	 Draw clear and well labelled diagrams of 	 4
any two of the following :

Mature dicot embryo

T. S. of dicot stem with secondary
tr)	 growth
n.0	 (iii)	 An organised embryo sac

(iv)	 L.S. of shoot apex

(b)	 Name a plant which possesses : 	 1

Aril

Albuminous seed

5.	 Define any five of the following :	 5

Morphogenesis

Totipotency

(c)	 Polyembryony

Chasmogamy

Apomixis

Double fertilization

Pollinium

6.	 With the help of labelled diagrams, describe the 	 5
functions and types of endosperm in angiosperms.

OR

Discuss the current trends in the development 	 5
of reproductive biology.
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7.	 (a) Enumerate the different growth regulators 	 4
in plants and give the role of any one of
them in growth and differentiation.

(b) Give a contribution of F. Skoog or S. Guha 	 1
and S. C. Maheshwari.
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Answer the questions as per instructions in each part.
Draw labelled diagrams, wherever necessary.

Time : 2 hours	 Maximum Marks : 25

Note : Question Number 1 is compulsory. Attempt any four

questions from Q. No. 2 to 6.

PART - II (ANIMALS)

1.	 (a) Define the following :	 2

Invagination

Holoblastic cleavage

Differentiate between benign and malignant
tumours.

Fill in the blanks with suitable words : 	 2

(i)
	

During	 insect metamorphosis
	 hormone determines the
degree of differentiation towards the
development of adult.
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(ii) Centrolecithal eggs of insects undergo
	  type of cleavage.

With the help of suitable diagrams, describe the 	 5
process of neurulation in frog.

(a) Why is the dorsal lip of the blastopore called
a primary organiser ?

(b) What are fate maps ? List any two methods 	 3
of constructing the fate maps of embryonic
blastoderm.

(a) With the help of suitable diagrams, explain 	 3
the process of segmentation in regenerating
annelids.

(b) Describe any two features common to both 	 2
eye and limb development.

Describe the change in the external features 	 5
during metamorphosis in anurous.

6.	 Describe various theories to explain the process	 5
of cellular aging.
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